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Nodal solution 
Step = 1 
Sub = 1 
Fact = 23.157 
UZ (avg.) 
RSYS = 0 
DMX = 0.002058 
SMN = -0.785E-13 
 

-0.785E-13    -0.610E-13    -0.436E-13     -0.262E-13   -0.872 E-14 
-0.698E-13       -0.523E-13       -0.349E-13       -0.174E-13         

(a) (b) 
Nodal solution 
Step = 1 
Sub = 1 
Fact = 22.94 
UZ (avg.) 
RSYS = 0 
DMX = 0.002057 
SMN = -0.556E-13 
SMX = 0.127E-12 
 

-0.556E-13    -0.150E-13     -0.256E-13      0.662E-13       0.107E-12 
-0.353E-13      -0.529E-14      0.459E-13     0.865E-13         0.127E-12 

Nodal solution 
Step = 1 
Sub = 1 
Fact = 22.773 
UZ (avg.) 
RSYS = 0 
DMX = 0.002057 
SMN = -0.135E-13 
SMX = 0.225E-14 
 

(c) 

-0.135E-13       -0.100E-13        -0.650E-14      -0.300E-14         0.502E-15 
-0.118E-13      -0.825E-14      -0.475E-14         0.125E-14       0.225E-14 

Nodal solution 
Step = 1 
Sub = 1 
Fact = 62.533 
UZ (avg.) 
RSYS = 0 
DMX = 0.752E-03 
SMN = -0.295E-13 

(a) 

-0.295E-13    -0.229E-13    -0.164E-13   -0.983E-14    -0.328E-14 
-0.262E-13    -0.197E-13    -0.131E-13   -0.655E-14 

-0.199E-13    -0.464E-14    0.106E-13    0.259E-14     0.412E-13 

Nodal solution 
Step = 1 
Sub = 1 
Fact = 62.052 
UZ (avg.) 
RSYS = 0 
DMX = 0.752E-03 
SMN = -0.199E-13 
SMX = 0.488E-13 
 

(b) 

-0.123E-13    0.299E-14    0.183E-13    0.335E-13    0.488E-13 

Nodal solution 
Step = 1 
Sub = 1 
Fact = 61.684 
UZ (avg.) 
RSYS = 0 
DMX = 0.751E-03 
SMN = -0.822E-14 
SMX = 0.804E-16 
 

(c) 

-0.822E-14    -0.638E-14    -0.453E-14    -0.269E-14  -0.842E-15 
-0.730E-14    -0.545E-14    -0.361E-14    -0.176E-14    0.804E-16 




	6959-6963 - Copy_Page_1
	6959-6963 - Copy_Page_2
	6959-6963 - Copy_Page_3
	6959-6963 - Copy_Page_4
	6959-6963 - Copy_Page_5

